

Vendor Ranking

Page 1 of 1

Letting: 08240109 January 09, 2024 02:30 PM **Call Order**: 003 **Contract**: E8V00-R0

District: Turnpike Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS PALM BEACH, TURNPIKE Project(s): 19285417213 (*)

Contract Desc: SLOPE & SHOULDER MAINTENANCE ZONE I

Ran	v Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AGRICULTURAL LAND SERVICES, INC.	Responsive	Winning bid	\$427,850.00	100.00% Intent to AWAI
2	ENVIRONMENTAL LAND DEVELOPMENT	Responsive	Non-Winning Bid	\$600,645.00	140.39%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$659,800.00	154.21%
4	FLORIDA BLACKTOP, INC.	Responsive	Non-Winning Bid	\$897,575.00	209.79%
5	LEON AMERICA CONSTRUCTION LLC	Responsive	Non-Winning Bid	\$927,550.00	216.79%
6	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$999,750.00	233.67%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: JANUARY 23, 2024 AT 4:00 PM



Tabulation of Bids

Letting: 08240109 January 09, 2024 **Call Order:** 003 **Contract:** E8V00-R0

District: Turnpike Counties: BROWARD, MIAMI- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DADE, PALM BEACH, Project(s): 19285417213 (*)

Contract Descr: SLOPE & SHOULDER MAINTENANCE ZONE I

The work under this Contract consists of providing all labor, materials, equipment, and incidentals necessary to repair and/or restore roadside slopes and shoulders, including site preparation, grading, borrow excavation material, miscellaneous asphalt pavement, rip rap, finish soil layer preparation, sodding, and watering, at various locations on the Homestead Extension of Florida's Turnpike (HEFT), Milepost (MP) 0.0 to 47.9, Florida's Turnpike Mainline, MP 0.0X to 100.0, and the Sawgrass Expressway, MP 0.0 to 21.8.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS CONTRACT.

	No / Item ID Description	Alternate	Quantity Units	(1) AGRICULT SERVICE		(2) ENVIRONM DEVELO		CONSULTING	
() inc	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	_C Ext Amount
	SECTION:	0001	ASPHALT REF	PAIR (MECHANIC	AL) (TN				
0005 BORRO MEASU	0120 2 2 W EXCAVATION RE	ON, TRUCK	1,750.000 CY	8.00000	14,000.00	22.00000	38,500.00	29.00000	50,750.00
_	0210 2 OCK-NEW MAT RKING BASE	ERIAL FOR	425.000 CY	10.00000	4,250.00	32.00000	13,600.00	15.00000	6,375.00
0015 MISCEL	0339 1 LANEOUS AS	PHALT PAVEM	55.000 ENT TN	280.00000	15,400.00	349.00000	19,195.00	195.00000	10,725.00
0020 RIPRAP	0530 1100 P, SAND-CEME	NT BAGS	130.000 CY	290.00000	37,700.00	795.00000	103,350.00	195.00000	25,350.00
0025 RIPRAP	0530 3 4 P, RUBBLE, F&	I, DITCH LINING	350.000 G TN	50.00000	17,500.00	159.00000	55,650.00	265.00000	92,750.00
0030 SODDIN	E575 1 NG		75,000.000 SY	4.40000	330,000.00	3.15000	236,250.00	3.69000	276,750.00

Page 1 of 5



Tabulation of Bids

Page 2 of 5

Letting: 08240109 January 09, 2024 Contract: E8V00-R0 Call Order: 003 (1) AGRICULTURAL LAND (2) ENVIRONMENTAL LAND (3) ROGAR MANAGEMENT & Line No / Item ID **Alternate** Quantity CONSULTING OF FLORIDA SERVICES, INC. **DEVELOPMENT Item Description** Units Unit Price LLC Ext Amount () indicates item is bid as Lump Sum **Unit Price Unit Price Ext Amount Ext Amount** (ASPHALT REPAIR (MECHANICAL) (TN SECTION: 0001 0035 E577 70 90,000.000 0.10000 9,000.00 1.49000 134,100.00 2.19000 197,100.00 SHOULDER REWORK SY 0001 ASPHALT REPAIR Section Totals: \$427,850.00 \$600,645.00 \$659,800.00 (MECHANICAL) (TN) \$600,645.00 **Contract Grand Totals:** \$427,850.00 659,800.00



Tabulation of Bids

Letting: 08240109 January 09, 2024 Call Order: 003 Contract: E8V00-R0

Letting.	. 00	240109 ,	January 09, 20.	24 Gai	i Order: 003		Contract.	E0V00-R0	
Line No / Item ID Item Description		Alternate	Quantity Units	(4) FLORIDA BLACKTOP, INC.		(5) LEON AMERICA CONSTRUCTION LLC		(6) MIDWESTERN CONSTRUCTION, INC	
() indic	cates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MECHANIC	AL) (TN				
	0120 2 2 V EXCAVATIO RE	ON, TRUCK	1,750.000 CY	42.00000	73,500.00	100.00000	175,000.00	65.00000	113,750.00
LIMEROC	0210 2 CK-NEW MAT KING BASE	ERIAL FOR	425.000 CY	74.00000	31,450.00	100.00000	42,500.00	200.00000	85,000.00
	0339 1 .ANEOUS AS	PHALT PAVEN	55.000 MENT TN	310.00000	17,050.00	400.00000	22,000.00	1,000.00000	55,000.00
	0530 1100 SAND-CEME	ENT BAGS	130.000 CY	867.50000	112,775.00	485.00000	63,050.00	650.00000	84,500.00
	0530 3 4 RUBBLE, F&	I, DITCH LININ	350.000 IG TN	173.00000	60,550.00	200.00000	70,000.00	600.00000	210,000.00
0030 I	E575 1 G		75,000.000 SY	4.85000	363,750.00	5.00000	375,000.00	3.50000	262,500.00
	E577 70 ER REWORK	ζ.	90,000.000 SY	2.65000	238,500.00	2.00000	180,000.00	2.10000	189,000.00
(LT REPAIR S	ection Totals:		\$897,575.00		\$927,550.00		\$999,750.00

Page 3 of 5



Tabulation of Bids

Page 4 of 5

Latting: 08240109 January 09 2024 Call Order: 002 Contract: E8\/00-P0

Letting:	08240109 Ja	nuary 09, 20)24 C a	all Order: 003		Contract:	E8V00-R0	
Line No / Item Item Descripti		Quantity Units	(4) FLORIDA BLACKTOP, INC.		(5) LEON AMERICA CONSTRUCTION LLC		(6) MIDWESTERN CONSTRUCTION, INC	
() indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	Contract Gra	nd Totals:		\$897,575.00		\$927,550.00		999,750.00



Tabulation of Bids

Page 5 of 5

Letting: 08240109 January 09, 2024 **Call Order:** 003 **Contract:** E8V00-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.